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Question

Number Scheme Marks
1. (3-2x)° =243, ... +5x%(3)'(-2x)=—-810x ...... B1, B1
+ 5>2<4(3)~°'(—2x)2 = +1080x2 M1 Al
[4]
2.(@) | {B+bx)° }=(3)°+ °C,(3)"(0x) + °C,(3°(bx)° + .. B1B1
= 243 + 405bx + 2700°X* + ... M1 Al
4)
(b) | {2(coeff x) = coeff x* } = 2(405b) = 270b’ M1
810
S0, {b=—+ b=3
{ 270 :} Al
(2)
[6]
0 10 10 2 (10 :
3.(a) (1+£xj =1+ (EXJ-F (lxj + (lxj M1 Al
2 102 2 2 32
_ LA 2 3
=1+5x;+ T(or 11.25)x° + 15x Al; Al
4)
(b) | (1 + 1x0.01)1°=1 +5(0.01) + (% or 11.25)(0.01)? + 15(0.01)® M1 ALV
=1+ 0.05 + 0.001125 + 0.000015
=1.05114 cao Al
(3)
[7]
4.(a) | log,64=2 = 64=x* M1
Sox=8 Al
(2)
(b) Iog2(11—6x):logz(x—1)2 +3 M1
M1
log, —11_6); =3

(x=1)

11-6X 5 M1
;=2

(x=1)

{11—6x=8(x2—2x+1)} and so 0=8x%-10x—3 Al
0=(4x+1)(2x-3) =>x=... dm1
w3 {_1} Al

2’| 4
(6)
[8]
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Question

Number Scheme Marks
4 19
5.(a) | Ty = 5x[gj - 0.072 M1 AL
)
)| S, =—> =25 M1 Al
1-0.8
)
A ak
(c) SU=087) 495 M1
1-0.8
1-0.8% > 0.998 or equivalent Al
k1og0.8 <10g0.002 or k >log,, 0.002 M1
log0.002
Kk>———
log0.8 Al cso
(4)
(d) | k=28 B1
(1)
[9]
6.(a) | X*+2x+2=10=>x*+2x-8=0(50 (x+4)(x-2)=0) =x=....... M1
X=-4, 2 Al
)
3 2
) X 2X M1 Al
(b) I(x +2x+2)dx_?+7+ 2x(+C) Al
3 2 "2
X2 x| =848 4] (4,32 8] (=24 M1
3 2 e 372 3 2
Rectangle:10x(2—-4) = 60 B1 cao
R :Il60||_|l24ll Ml
=36 Al
(7)
[9]
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Question

Number Scheme Marks
7.() | {V =} 2x’y=81 B1 oe
{L= 22x+ x+2x+ x) +4y = L = 12x + 4y}
81 81
yzij L=12X+4(Fj Ml
So, L=12x+ 1%2 AG Al cso
(©)
dL 324
— =12 - 2= (= 12 -324x7° M1
(0) | X’ { } Al aef
{%:}12_%203 =328 57 x=3 M1;
dx X 12 Al cso
_ _ 162 _ ddmM1
{x=3} L=12(3)+ 7 - 54 (cm) Yl
(6)
2
(c) | {Forx=3}, 372‘ = 9)%42 >0 = Minimum M1 Al
(2)
[11]
8.( |45 (a) B1
180 -« Add 20 (for at least one angle) M1 M1
65 155 Al
(4)
(b) | 120 or 240 (p): B1
360- 4, 360+ 40 M1 M1
Dividing by 3 (for at least one angle) M1
40 80 160 200 280 320 Al Al
(6)
[10]
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Question Scheme Marks
Number
9.(a) | (10-2)% +(7-1)2 or /(10-2)% +(7-1)° M1 Al
(x£2)2+(y£D)? =k  (kapositive value) M1
(x-2)% +(y-1)? =100 Al
4)
(b) | (Gradient of radius =) ——+ =5 (o) B1
10-2 8 o
. —4
Gradient of tangent =? M1
y—7=m(x-10) M1
y—7 :_?4(x—10) (0.e)) Alft
4)
r 2
c 2| D M1
© [ 2)
=10 - 52 (0.e.) Al
PQ (= 2/75)=1043 Al
©)
[8]
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Statistics for C2 Practice Paper Gold Level G1

Mean score for students achieving grade:
Max Modal Mean

Qu score  score % ALL A A B ¢ D E U
1 4 76 3.05 3.70 3.26 291 2.58 2.21 1.43
2 6 74 4.46 5.82 5.70 5.22 4.66 4.04 3.34 2.00
3 7 66 4.62 6.35 4.91 4.39 3.51 2.90 1.66
4 8 57 4.59 6.73 4.83 3.73 2.47 2.10 1.24
5 9 61 5.50 7.47 6.37 5.43 4.56 3.87 2.31
6 9 86 7.74 8.95 8.58 8.06 7.60 6.89 6.32 3.59
7 11 53 5.87 10.38 9.49 7.44 5.58 3.88 2.60 0.95
8 10 55 5.53 8.62 6.73 5.34 4.03 2.72 1.22
9 11 54 592 10.11 8.69 7.36 6.32 4.92 3.31 1.16
75 63 47.28 65.33 54.18 4596 36.88 29.37 15.56
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